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Irirst Semester B.E./B.Tech. Degree Examill#Uor, Jan./Feb .2023
Mathematics - I for Gomputer.,p^clEnce Engineering
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Note: l. Answer any FIW full questions, choasiig ONE fult questionfrom each module,
2. Wll Formula Hand Book is permiid.
3. M : Marks , L: Bloom's level , ,e'i,, urse outcomes. 
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a. With usual notations, prove that S = r--r-
dy

Find the angle of intersection between the curves y = jq , , :-3 ^ .1+o'' l+e''
,. ... :..:

with usual notations prove that + = + t ( dr )'
p- 

'- 
*F[arJ

Find the radius of the curvature of the curve r = a(l + cosO).

Using modern mathematical tool write,*,program/code to p

b.

c.

a.

b.

c.

b.

.,n+rir2. =l+x-;-*tf;. 
, ,, ,

If Z:.ax+bY (aX-by), prove *at Aff, fX= 2abz .

Find the extreme values of the function (x, y): x *3x- l2y+20.

find Jru'''*).
\x,y,, )

Cosine curve.
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Using tvtaclaurin; r r;ri.; Fil,,tffi--
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a program to evaluatcUsing modern mathematical tool
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Module - 3

Find the general solutiom of the equation (px - y) Oy + x) =^ 2p by reducing

into Clairiut's form by taking the substitution X =i2, Y : f .

A 12 volts bgtte r iS-connected to a seriesCiieuit in which the inductance is

I"a Henrv and resistance is 10 ohms. Determine current I, if the initial
.fz
current is,zero.

Solve S.rtanx=y'secx.

Solve x"p' + 3xyp + 2f :0.

i) Find the last digit in 13{*r*
ii) Find the r"*uiid", d*8h'rr18 is divided by 10.

Find the solutions linear congruencer. 1"2-x = 6(mod2 1 ).

n of linear D ine equatlotl0x;

Find thkryilainder when I ided by 17.

i tzy = ioa.

nm*"
;h1.1
..,,r''*'+

Solve x = 3(gibd'},5), x : 2(mod 6)r,.4'= 4(mod 7) using Chinese remainder
theorem.

Find the rank of rnai*k
..i- '1,
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Solve the system of equations by Gauss-Jordan method.
x lytz:9; 2x+y*z=0; 2xa5y+72:52. ,:i ::aj;:r,,::ii

.;i. '.:La

lue and the correspond

I z -r
nratrix I =l -l Z
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L0 -l
power method.
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i) UrdQue solution

_d

#

Q.10 Find the values of 1. and p for
xty* z=6; x+2y*32=
ii) Infinitely many solutions

Solve the following s of equations by
2x+ y * 4z= 12, {a +,:I1} - z= 33, 8x- 3y + 2z

b.

c.

20.
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